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Attempt any Five questions.

All questions carry equal marks.
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1. (@ Ifthe demand function is given by Q, = 100 - 0.6 P
and supply function is Q = 70 + 0.8 P, then find

out the equilibrium price and equilibrium quantity.

(b) Show that the two parallel straight line demand
curves have different elasticity of demand at given

prices.

(¢) How does Government intervention solve the

problems created by price mechanism ? 7,5,8

(%) afs A1 T Q, = 100 — 0.6 P gR1 3R gff wem

Q,= 70 + 0.8 P BRI W&4 &, T9 HeH S R
Fe HE A@A IS
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2. (a) Explain law of diminishing marginal utility. How

is demand curve derived from it ?
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Explain the concept of consumer surplus. Using

it explain the paradox of value. 10,10
da= syafa s fam ) geEmEe) 399 mh
% 9 yer =Fofea @@ § 2
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Discuss the properties of indifference curves and

explain the concept of a budget line.

How is consumer equilibrium obtained ? Explain
the effects of price and income changes on the

equilibrium. 10,10
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4. (@) The following is the schedule of the firm’s output

at various levels of cost.

Output Total Cost
(units) (Rs.)
0 30
1 50
2 66
3 72
4 94
5 130

Find out AVC, ATC, AFC, MC, TFC and TVC.

(b)  Find out the relationship between output and cost
curves in long-run and short-run. Why is LRAC
known as envelope curve ? 8,12

(%) TF FH FI 39T 51 fOfd= TR W ara g
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ELICE] H_A AT
(3TEAT) (%)
0 30
1 50
2 66
3 72
4 94
b 130

dM@ FHINT AVC, ATC, AFC, MC, TFC 3R TVC.

(@) 39T 3R @ § SiEweE 3R SAeqaded §
T Jd &I LRAC 9% &1 fAwmw 9% &=
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5. Describe the short-run and long-run equilibrium of a firm
under perfect competition. Why should a firm enter into
an industry knowing well-that it can earn only zero
economic profit eventually ? What are the efficiency

implications of long-run equilibrium for a perfectly

competitive firm ? 20

P.T.O.

i revious year paper, and guess paper -



http://www.howtoexam.com

ww.howtoexam.com

6.

( 6 ) 5602

o wfE W st qen A s
#I faa=m Fifsw w4 # 7% 79 B9 & W fF A
;YA SAEE oY U™ @, A% 3EW d werw
®I HIEA T YWE FE 7

How do equilibrium price and quantity respond to changes
in prices of raw materials and changes in technology ?
Explain diagrammatically. 20
wrenfrt | uftads m fFa ver wfafen @ 2 smwen:
T T |

Explain the case for protectionism. What are the different
methods of protectionism ? What are the various

agreements covered under WTO ? 20
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8. Write short notes on any two of the following :
(@) Public goods;
(b) Theory of games;
(c) Backward bending supply curve of labour;
(d) Absolute and comparative cost differences. 10,10
frafafea # | f&< @ w 98w § feorft fafem .
(%) TEeHH aEqu;
(@) ™ 1 fagr;
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